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ARITHMATIC: BANK:
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Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
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Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
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Based of Ages Combination
Partnership

Probability
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Time Speed And Distance
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Boat and Stream
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Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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CONDITIONS

Some conditions to remember:

1. Age some yea ‘@@

2. Present age/current/now
3. Age some year hence after ruture /

4
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CONCEPT
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TYPES OF QUESTIONS ASKED IN EXAMS
)8 SR
Type 1: ~(Q

The ratio of age of Sushma is in rati After 8 years) the ratio of their ages
will be 7:8. What is th¢ differenceé\in years between their ages’
U
Tyns

If 10 years ago, ths

their ages becom

atio of ages of A and B wz (@ after 10 yearyg/the ratio of
o
ind the sum of present ages?
NN
Type 3:

The ratio between the present ages of P and R is 5:3. The ratio between P's age four
e D
years ago and R's age 6 years hence is 1:1. What is the ratio between P's age 4 years hence
and R's age four years ago?
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TYPES OF QUESTIONS ASKED IN EXAM*

A}
The ratio of
‘ '

Type 4.
Five years ag'o)Ae sum of the age of Father and Son wa¢
e —————

present ages is 4: 1. What is the present age of the father?
_

TypeS. (Difference of age always Same)

The ratio between the ages of Mother (M) and her Daughter (D) 4 years ago was
19: 5. If the difference between the ages of mother and daughter is 28 years what

will be the ratio of their present age?
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BASED ON AGES-1
The ratio of agesof A& BisS: 7.

The age oA jfter 8 irs inu @)\

yrs. Find the age of I/ before"
A & B Y 3T 1 T8

aﬁéﬁnaAaﬁamxu aﬁ@’ﬁl

B4
(a) 44 <§b54§§
(c) 46 (d) 47 @

(e) None of these
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The ratio of present ages of Madhu &

Divya is 6 : 7. Madhu is 7 "
ivya is adhu is 7 yeay*vounger

that Laxmi. Laxmi’s age @fter 8 yrawill

be 51 yfs. What is the difference b/w
present ages of Madhu & Dnvya" qy 3N
ﬁma&raﬁunmwammts 7%|mx
maf}H?mFrm?ﬂzl saéé:maatﬁ
H AT 51 9 T WY AR F=Ar &

AT ATY H T 3T &2
(a) 3 (b) 4
(€) 5 (d)

(e) None of these

MATHS WITH SACHIN BALIYAN SIR

@JD

z-m:
L |

+8=

=5
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The ratio of the present age of Palash to that

of Arnavis 3:11. Arnavis 12 ounger
than Rahim. Rahim’s age (fter 7 years)will
be 85 vea hat is the present age of

Palash @ ho is 25 years older than
’
Palash’

UEATIT Thi TAHT AT ST HATATA A4S

HATATA 3: 11. B 3, W A 12 T9 BT 7
T 12 T2 hi IW 85 AT ZIT TATIT 6
fora <t FdwT= AT FT F A TSI H 25 HieA

S\ &

(b) 67 years (c) 45

Jears (d) 69 years
(e) None of these
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Five years ago, the average age of Simi’s

age that time and Tia’s age that time

wag, 17 vears. Five year the

respective ratio between Simi’s age and

Tia’s age at that time will be 4:5. What

is Simi’s present age? UTel TTeT T&c,

feret st aftaa AT 39 U AR A & ,

AT 3T THT 17 A9 off| 3T | Ut A9 0
aTe, et &t ATg 3R 39 |awy Zran +

AT & e T AT 4: 5 T fadt &0

AU AT FAT 82
(b)19 year

(a) 22 years
(c) 15years (d) ZZyears
(e) None of these
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The present ages of three colleagues A- > % 3 ‘.
are in proportions 3: 5:7. Four years ’_'_______-
@he sum of their ages wa 3 o ;‘ ’: Q\'
find their present ages (in years)? \‘/K )({
17 AEwtial Y adAE arqd 3:5: 7 (P O

o ¥ IR ATt UEA, ITehT AT ST AR _{_e*c-yha
48311.3:@:3#?31@(3&?&)%? A \
(a)12, 20, 28~ (b) 22, 20, 28

(c) 12,10, 28 (d) 12, 20, 18
(e) None of these
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The ratio between the present ages of A
and B is 3 : S respectively. If the
difference between B's present age and
A’s age after 7 year is 3 .what is the sum
of A's and B's present age ? A 3717 B &l
AW AT o de T FATATT /AT 3: 5
21 afe B I AT AR 7 IC H A6 A

oh ST ST 37X 3 8 a1 A 3R B Al adu=
AT T THet 0T AT 82
A)10 years B) 30 years C)

40 years D) 45 years
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Sneha is 8 vears older than her cousin.
#

ears younger th IS S . C
=

mother. If the ratio between the ages of
R —————

Sneha and her cousin’s motheris 7 : 11.
— N

What will be the age of Sneha’s cousin

after 3 years? THET JU4 T WIE H 8 ﬂ\’a L‘) ;8
ma@%lmaﬁwmﬁaﬁﬁﬁMS'

AT BT 1 af T 3 IEE W T Q -2 4
hl |1 Y AT & dra &1 A9 7: 11, T, S,M‘:

Al TET o Al W13 Sl AT 3 99 & q1E
T EI?
a)21 years B 20 years C

26 years \J 23 years
E None of these

Her cousin is
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When Ramesh was born, his father was 32 yrs(s '

older than his brother & his mother was 25 yrs
older than his sister. If Ramesh’s brother is 6 yrs
older than Ramesh & his motheris 3 rs
younger than his father, how old was Ramesh’s
when Ramesh wa A THIT &HT T
, 30k TOaT 2197 w18 A 37 a9 9% o 3R ITeh!
qT ITh! T84 | 25 99 T2t off| afE T =T 9TE W
o 6 ATeT I2T & A IOh! 91 39 fUar ° 3 91
SISt &, a1 THIT & -9 oh 0T I ht TgF i
feRaT oft?

(a) 15 c) 20 (d) 25 (e)
None of these

MATHS WITH
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Veena’s present age is three times her son’s
present age and two fifth of her father’s present
age. The average of present age of all of them is
46 yrs. What is the difference between the
Veena’s son’s present age and Veena’s father’s
present age? AT T TANH HTT IAh UF hHi
A AT ¥ qF AT AR 39S fuar it qane
AT T qrAAT WIT g 37 AW HY JAqH AT HT
AT 46 T F1 AT q2 HY FAWH AT AR AT
o foran &t adam AT | w2

(a) 78 yrs (b)
88 yrs (c) 58 yrs

(d) None of the Above  (e) None
of these
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